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1. Author of the book 'Wealth of Nations' :

(A) Herbert Spencer

(B) J.S. Mill

(C) Laski

(D) Adam Smith

2. Individualist consider State :

(A) As a necessity

(B) As an Ethical institution

(C) As a necessary evil

(D) As a totally unwanted institution

3. Author of 'Communist Manifesto' :

(A) Hegel

(B) Marx

(C) Barker

(D) Laski

4. According to Marx, all fundamental historical

changes are determined by the :

(A) State

(B) Working class

(C) Capitalist class

(D) Economic forces

1. ^osYFk vkWQ us'kal* iqLrd ds ys[kd gSa %

(A) gcZVZ Lisalj

(B) ts-,l- fey

(C) ykLdh

(D) ,Me fLeFk

2. O;fDroknh jkT; dks ekurs gSa %

(A) ,d vko';drk ds :i esa

(B) uSfrd laLFkku ds :i esa

(C) vko';d cqjkbZ ds :i esa

(D) iwjh rjg ls vokafNr laLFkk ds :i esa

3. ^dE;qfuLV ?kks"k.kk&i=* ds ys[kd %

(A) ghxy

(B) ekDlZ

(C) ckdZj

(D) ykLdh

4. ekDlZ ds vuqlkj lHkh ewyHkwr ,sfrgkfld

ifjorZu fu/kkZfjr gksrs gSa %

(A) jkT; }kjk

(B) etnwj oxZ }kjk

(C) iw¡thoknh oxZ }kjk

(D) vkfFkZd 'kfDr;ksa }kjk

[P.T.O.]
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5. Which one of the following is the feature of

Presidential System?

(A) Principal of Checks and Balance

(B) Separation of Powers between

Executive and Legislature

(C) Fixed Tenure and quick decisions

(D) All of the above

6. In a Presidential System like USA :

(A) President represents a political party

(B) President is Non Party man

(C) President is collective choice of all

parties

(D) President is president of a particular

Political Party also

7. Which one of the following is not a feature

of a Federal Government?

(A) Single Status of Government; at

central level and at unit level

(B) Division of Powers between Centre

and State

(C) Division of Powers mentioned in

Constitution/Acts

(D) Independent and Impartial judiciary

to settle the disputes between

Centre and State

5. fuEufyf[kr esa ls dkSu jk"Vªifr iz.kkyh dh

fo'ks"krk gS\

(A) psd vkSj cSysal dk fl)kUr

(B) dk;Zikfydk vkSj fo/kkf;dk ds chp

'kfDr;ksa dk i`FkDdj.k

(C) fuf'pr dk;Zdky vkSj Rofjr fu.kZ;

(D) mi;qZDr lHkh

6. la;qDr jkT; vesfjdk tSlh jk"Vªifr iz.kkyh

esa %

(A) jk"Vªifr ,d jktuhfrd ny dk

izfrfuf/kRo djrs gSa

(B) jk"Vªifr fdlh Hkh ikVhZ dk lnL;

ugha gksrk gS

(C) jk"Vªifr lHkh nyksa dh lkewfgd ilan

gksrs gSa

(D) jk"Vªifr fdlh fo'ks"k jktuhfrd ny

dk Hkh v/;{k gksrk gS

7. fuEufyf[kr esa ls dkSu ,d la?kh; ljdkj dh

fo'ks"krk ugha gS\

(A) ljdkj dh ,dy fLFkfr( dsUnzh; Lrj

ij vkSj bdkbZ Lrj ij

(B) dsUnz vkSj jkT; ds chp 'kfDr;ksa dk

foHkktu

(C) lafo/kku@vf/kfu;eksa esa of.kZr 'kfDr;ksa

dk foHkktu

(D) dsUnz vkSj jkT; ds chp fooknksa dks

fuiVkus ds fy, LorU= vkSj fu"i{k

U;k;ikfydk
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8. fuEufyf[kr esa ls dkSu&lk yksdra= dh lQyrk

ds fy, vko';d 'krZ ugha gS\

(A) lkekftd vkSj vkfFkZd lekurk

(B) etcwr nyh; iz.kkyh

(C) izsl dh LorU=rk

(D) jkT; /keZ

9. tuer ds :i esa ekuk tkus okyk ,d jk; :

(A) ;g lexz :i ls yksxksa ls fudyuh

pkfg,

(B) ;g ,d vuqHkkxh; fgr ugha gksuk

pkfg,

(C) blesa vYila[;d dh lgefr gksuh

pkfg,

(D) mijksDr lHkh

10. vYila[;d izfrfuf/kRo dk ,d rjhdk dkSu&lk

gS\

(A) lhfer oksV ;kstuk

(B) lap;h oksV iz.kkyh

(C) i`Fkd fuokZpu iz.kkyh

(D) mijksDr lHkh

11. tuer dk dkjd gS %

(A) jktuhfrd ny

(B) izsl

(C) 'kS{kf.kd laLFkku

(D) mijksDr lHkh

8. Which of the following is not a necessary

condition for the success of Democracy?

(A) Social and economic equality

(B) Sound party system

(C) Freedom of press

(D) State religion

9. An opinion to be considered as public

opinion.

(A) It must emanate from the people as

a whole

(B) It should not be a sectional interest

(C) It should have the consent of the

minority

(D) All of the above

10. Which is a method of minority representation?

(A) The Limited Vote plan

(B) The Cumulative Vote System

(C) The Separate Electorate System

(D) All of the above

11. Which is an agent of Public opinion?

(A) Political party

(B) Press

(C) Educational institutions

(D) All of the above
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12. The process whereby an imperial power

gives up its formal authorities over its

colonies is called :

(A) Colonialism

(B) Imperialism

(C) Decolonialization

(D) Neo-colonialism

13. One of the major factors that has stimulated

the globalization process is :

(A) Effective utilization of resources

(B) Increase in income and wealth

(C) Willingness to cooperate

(D) Rapid improvement in technology

14. Who is the celebrated author of ‘Law of the

Constitution'?

(A) A.V. Dicey

(B) Herman Finer

(C) R.G. Gettel

(D) F.W. Willoughby

15. Direct Democracy is the system in which :

(A) Citizens choose the representatives

in free and fair elections

(B) Citizens are allowed to debate with

their representatives in open public

meetings

(C) Citizens represent themselves in

the decision making process

(D) Senior political leaders are known

as ‘directors’

12. og izfØ;k ftlds }kjk ,d 'kkgh 'kfDr

vius mifuos'kks a ij vius vkSipkfjd

vf/kdkj NksM+ nsrh gS] dgykrh gS %

(A) mifuos'kokn

(B) lkezkT;okn

(C) fo&vkSifuos'kokn

(D) uo&mifuos'kokn

13. oS'ohdj.k izfØ;k dks izsfjr djus okys izeq[k

dkjdksa esa ls ,d gS %

(A) lalk/kuksa dk izHkkoh mi;ksx

(B) vk; vkSj /ku esa o`f)

(C) lg;ksx djus dh bPNk

(D) izkS|ksfxdh esa rsth ls lq/kkj

14. ^ykW vkWQ n dkafLVV~;w'ku* ds izfl) ys[kd

dkSu gSa\

(A) ,-oh- Mk;lh

(B) gjeu Qkbuj

(C) vkj-th- xSVsy

(D) ,Q-MCY;w- foyksch

15. izR;{k yksdra= og iz.kkyh gS ftlesa %

(A) LorU= vkSj fu"i{k pquko esa ukxfjd

izfrfuf/k;ksa dk p;u djrs gSa

(B) ukxfjdksa dks [kqyh tulHkkvksa esa vius

izfrfuf/k;ksa ds lkFk cgl djus dh

vuqefr gS

(C) fu.kZ; ysus dh izfØ;k esa ukxfjd

Lo;a dk izfrfuf/kRo djrs gSa

(D) ofj"B jktuhfrd usrkvksa dks ̂ funs'kd*

ds :i esa tkuk tkrk gS
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16. According to Marx, in the 'Class War', Who

will come out victorious?

(A) Bourgeoisie

(B) Capitalist Class

(C) Proletariat

(D) Middle Class

17. Which one of the following is not the feature

of Parliamentary System?

(A) Executive responsible to

Legislature

(B) Real & Nominal Head of State are

different

(C) Prime Minister is the axis of Political

power

(D) President is directly elected by

people

18. Which of the following country is not having

Parliamentary System?

(A) India

(B) Pakistan

(C) USA

(D) None of the above

16. ekDlZ ds vuqlkj ^oxZ ;q)* esa dkSu fot;h

gksxk\

(A) cwtqZvk oxZ

(B) iw¡thifr oxZ

(C) loZgkjk oxZ

(D) e/;e oxZ

17. fuEufyf[kr esa ls dkSu&lh lalnh; iz.kkyh

dh fo'ks"krk ugha gS\

(A) fo/kkf;dk ds izfr mÙkjnk;h dk;Zikfydk

(B) jkT; ds okLrfod vkSj ukeek= ds

izeq[k vyx&vyx gSa

(C) iz/kkuea=h jktuhfrd 'kfDr dh

/kqjh gSa

(D) jk"Vªifr lh/ks yksxks a }kjk pquk

tkrk gS

18. fuEufyf[kr esa ls fdl ns'k esa lalnh; iz.kkyh

ugha gS\

(A) Hkkjr

(B) ikfdLrku

(C) vesfjdk

(D) mijksDr esa ls dksbZ ugha
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19. Which of the following claims is the most

plausible according to social scientists?

(A) Nationalism should be eliminated

(B) Nationalism has both good and bad

consequences

(C) Nationalism is a form of prejudice-

plain and simple

(D) Nationalism is important because

without it politics would be

meaningless

20. Which type(s) of nationalism is/are thought

of as normally establishing membership in

the nation on the basis of imagined biological

ties?

(A) Civic nationalism

(B) Ethnic nationalism

(C) Territorial nationalism

(D) Both (A) and (C)

21. Globalization by connecting countries leads

to :

(A) Lesser competition among

producers

(B) Greater competition among

producers

(C) No competition among producers

(D) None of the above

19. lkekftd oSKkfudksa ds vuqlkj fuEufyf[kr

esa ls dkSu&lk nkok lcls vf/kd iz'kaluh;

gS\

(A) jk"Vªokn dks [kRe djuk pkfg,

(B) jk"Vªokn ds vPNs vkSj cqjs nksuksa

ifj.kke gksrs gSa

(C) jk"Vªokn iwokZxzg dk ,d :i gS&lknk

vkSj ljy

(D) jk"Vªokn egRoiw.kZ gS] D;ksafd blds

fcuk jktuhfr fujFkZd gksxh

20. jk"Vªokn ds fdl izdkj ¼izdkjksa½ dks lkekU;

:i ls] tSfod lEcU/kksa ds vk/kkj ij jk"Vª esa

lnL;rk ds :i esa ekuk tkrk gS\

(A) ukxfjd jk"Vªokn

(B) tkrh; jk"Vªokn

(C) izknsf'kd jk"Vªokn

(D) nksuksa (A) vkSj (C)

21. ns'kksa dks tksM+us ls oS'ohdj.k esa %

(A) mRikndksa ds chp de izfrLi/kkZ gksrh gS

(B) mRikndksa ds chp vf/kd izfrLi/kkZ

gksrh gS

(C) fuekZrkvksa ds chp dksbZ izfrLi/kkZ ugha

gksrh gS

(D) mijksDr esa ls dksbZ ugha
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22. The right to elect Member of Parliament is a :

(A) Political right

(B) Social right

(C) Religious right

(D) Moral right

23. Who wrote the work “Representative

Government”?

(A) Lowell

(B) T.H. Green

(C) J.S. Mill

(D) Laski

24. Human rights, traditionally are divided into :

(A) Political and economic rights

(B) Political and social rights on one

hand and cultural rights on the other

(C) Civil and political rights

(D) Civil and political rights on one hand

and the right to development on the

other

22. laln lnL; pquus dk vf/kdkj ,d %

(A) jktuhfrd vf/kdkj gS

(B) lkekftd vf/kdkj gS

(C) /kkfeZd vf/kdkj gS

(D) uSfrd vf/kdkj gS

23. ^^fjfiztsaVsfVo xouZesaV** d`fr fdlus fy[kh\

(A) ykWosy

(B) Vh-,p- xzhu

(C) ts-,l-fey

(D) ykLdh

24. ekuo vf/kdkj] ikjEifjd :i ls foHkkftr

gS%

(A) jktuhfrd vkSj vkfFkZd vf/kdkjksa esa

(B) ,d rjQ jktuhfrd vkSj lkekftd

vf/kdkj vkSj nwljh rjQ lkaLdf̀rd

vf/kdkj

(C) ukxfjd vkSj jktuhfrd vf/kdkj

(D) ,d rjQ ukxfjd vkSj jktuhfrd

vf/kdkj vkSj nwljh rjQ fodkl dk

vf/kdkj

[P.T.O.]
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25. Whose name is primarily associated with

organic theory of the state?

(A) August Comte

(B) MacIver

(C) Herbert Spencer

(D) T.H. Green

26. Idealistic Theory is also called :

(A) Socialistic theory

(B) Divine theory

(C) Anarchist theory

(D) Metaphysical theory

27. Bosanquet's name is associated with :

(A) Organic theory

(B) Idealist theory

(C) Anarchist theory

(D) Socialist theory

28. Ideology that advocates maximum possible

freedom to individual and minimum of state

functions :

(A) Fascism

(B) Marxism

(C) Individualism

(D) Gandhism

25. jkT; ds tSfod fl)kUr ls eq[; :i ls

fdldk uke tqM+k gS\

(A) vkxLr dkWEV

(B) eSdkboj

(C) gcZVZ Lisalj

(D) Vh-,p- xzhu

26. vkn'kZoknh fl)kUr dks ;g Hkh dgk tkrk gS%

(A) lektoknh fl)kUr

(B) bZ'ojh; fl)kUr

(C) vjktdrkoknh fl)kUr

(D) rRoHkkSfrd fl)kUr

27. ckslkuDosV dk uke lEcfU/kr gS %

(A) tSfod fl)kUr ls

(B) vkn'kZoknh fl)kUr ls

(C) vjktdrkoknh fl)kUr ls

(D) lektoknh fl)kUr ls

28. fopkj/kkjk tks O;fDrxr vkSj U;wure dk;ksZa

ds fy, vf/kdre lEHko LorU=rk dh odkyr

djrh gS %

(A) Qklhokn

(B) ekDlZokn

(C) O;fDrokn

(D) xka/khokn
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29. Choose the tactic not generally associated

with pressure groups :

(A) Lobbying

(B) Strike

(C) Generating favourable public

opinion

(D) Use of muscle power

30. Primary reason for the formation of Pressure

group is  :

(A) To capture power

(B) Self-interest

(C) To a mass wealth

(D) All of the above

31. Bi-party system exists in :

(A) India

(B) Pakistan

(C) Sri Lanka

(D) None of the above

32. The term 'Globalization' was coined by :

(A) Kaplan

(B) Theodore Levitt

(C) Burton

(D) Spiro

29. ,slh j.kuhfr pqusa tks vkerkSj ij ncko

lewgksa ls tqM+h u gks %

(A) iSjoh

(B) gM+rky

(C) vuqdwy tuer rS;kj djuk

(D) ckgqcy dk mi;ksx

30. ncko lewg ds xBu dk izkFkfed dkj.k gS %

(A) lÙkk ij dCtk djus ds fy,

(B) LokFkZ

(C) /ku bdV~Bk djus ds fy,

(D) mijksDr lHkh

31. f}nyh; iz.kkyh ekStwn gS %

(A) Hkkjr esa

(B) ikfdLrku esa

(C) Jhyadk esa

(D) mijksDr esa ls dksbZ ugha

32. ^Xykscykbts'ku Globalization* 'kCn fdlds

}kjk fn;k x;k Fkk\

(A) dkIyku

(B) fFkvksMksj ysfoV

(C) cVZu

(D) Likbjks

[P.T.O.]
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33. ‘Euro centrism’ as the term for an ideology

was coined by whom?

(A) Karl Marx

(B) Green

(C) Samir Amin

(D) Rousseau

34. Political Science stresses the study of :

(A) Government

(B) State

(C) Power

(D) All of the above

35. Which factor is necessary for the

development of democratic institutions?

(A) Strong military forces

(B) Respect for individual rights

(C) A one-party system

(D) An Agricultural economy

36. The principle “Fair equality of opportunity”

was developed by :

(A) John Rawls

(B) Plato

(C) Rousseau

(D) Locke

33. ,d fopkj/kkjk ds :i esa ̂ ;wjks lsafVªTe* fdlds

}kjk fn;k x;k Fkk\

(A) dkyZ ekDlZ

(B) xzhu

(C) lehj vehu

(D) :lks

34. jktuhfr foKku fuEu esa ls fdlds v/;;u

ij cy nsrk gS\

(A) ljdkj

(B) jkT;

(C) 'kfDr

(D) mijksDr lHkh

35. yksdrkaf=d laLFkkvksa ds fodkl ds fy, dkSu&lk

dkjd vko';d gS\

(A) etcwr lSU; cy

(B) O;fDrxr vf/kdkjksa dk lEeku

(C) ,d nyh; O;oLFkk

(D) ,d d`f"k vFkZO;oLFkk

36. ^^volj dh fu"i{k lekurk** dk fl)kUr

fdlds }kjk fodflr fd;k x;k Fkk\

(A) tkWu jkWYl

(B) IysVks

(C) :lks

(D) ykWd
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37. The emergence of constitutionalism is

associated with which of the following?

(A) The emergence of contracts

between rulers and ruled

(B) Greater agricultural productivity

(C) Increasing theocracy

(D) The emergence of totalitarianism

38. Which of the following will characterize a

constitution that is relatively rigid?

(A) Difficulty in ensuring judicial review

(B) Difficulty in making amendments

(C) A very rigid culture

(D) Parliament having no power to

amend

39. India follows :

(A) Direct democracy

(B) Participatory democracy

(C) Representative democracy

(D) None of the above

37. lafo/kkuokn dk mn; fuEufyf[kr esa ls fdlds

lkFk tqM+k gqvk gS\

(A) 'kkldks a vkSj 'kkflrks a ds chp

vuqcU/kksa dk mn;

(B) vf/kd d`f"k mRikndrk

(C) c<+rk gqvk /keZrU=

(D) vf/kuk;dokn dk mn;

38. fuEufyf[kr esa ls dkSu dBksj lafo/kku dh

fo'ks"krk gS\

(A) U;kf;d leh{kk lqfuf'pr djus esa

dfBukbZ

(B) la'kks/ku djus esa dfBukbZ

(C) ,d cgqr gh dBksj laLd`fr

(D) laln ds ikl la'kks/ku djus dh 'kfDr

ugha

39. Hkkjr esa fdl izdkj dk yksdrU= gS\

(A) izR;{k yksdra=

(B) Hkkxhnkjh yksdra=

(C) izfrfuf/k yksdrU=

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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40. The natural right that was not advocated by

the political theorists of the 17th and 18th

centuries was the right to :

(A) Life

(B) Liberty

(C) Information

(D) Property

41. According to Marx, the Dictatorship of the

proletariat signifies :

(A) Transitional state

(B) An ideal state

(C) A liberal state

(D) An autocratic state

42. One of the serious hurdles in the way of

implementing the ideals of welfare state is :

(A) Reluctance of government servants

to assume more responsibility

(B) Indifferent attitude of the politicians

(C) Lack of interest by the common

people

(D) Reluctance of people to pay high

taxes

40. 17oha vkSj 18oha 'krkCnh ds jktuhfrd

fl)kUrdkjksa }kjk ftl izkd`frd vf/kdkj dh

odkyr ugha dh xbZ Fkh] og vf/kdkj gS %

(A) thou dk vf/kdkj

(B) LorU=rk dk vf/kdkj

(C) lwpuk dk vf/kdkj

(D) lEifRr dk vf/kdkj

41. ekDlZ ds vuqlkj loZgkjk oxZ dh rkuk'kkgh

dk vFkZ gS %

(A) ,d laØe.kdkyhu jkT;

(B) ,d vkn'kZ jkT;

(C) ,d mnkj jkT;

(D) ,d fujadq'k jkT;

42. dY;k.kdkjh jkT; ds vkn'kksZa dks ykxw djus

ds jkLrs esa xEHkhj ck/kkvksa esa ls ,d gS %

(A) vf/kd ftEesnkjh ysus ds fy, ljdkjh

deZpkfj;ksa dh vfuPNk

(B) jktusrkvksa dk mnklhu joS;k

(C) vke yksxksa }kjk #fp dh deh

(D) mPp djksa dk Hkqxrku djus ds fy,

yksxksa dh vfuPNk
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43. Which one of the following country is not an

example of Unitary Government?

(A) United Kingdom

(B) India

(C) Afghanistan

(D) China

44. Which of the following is a Unitary State?

(A) United States of America

(B) France

(C) Venezuela

(D) Nigeria

45. Which of the following is a Federal Country?

(A) France

(B) Brazil

(C) United Kingdom

(D) Italy

46. Which in not an essential characteristics of

Democracy?

(A) Universal Adult Franchise

(B) Elective legislatures

(C) Civil liberties

(D) Perfect economic equality

43. fuEufyf[kr esa ls dkSu&lk ns'k ,dkRed ljdkj

dk mnkgj.k ugha gS\

(A) ;wukbZVsM fdaxMe

(B) Hkkjr

(C) vQxkfuLrku

(D) phu

44. fuEufyf[kr esa ls dkSu&lk ,dkRed jkT; gS\

(A) la;qDr jkT; vesfjdk

(B) Ýkal

(C) osustq,yk

(D) ukbthfj;k

45. fuEufyf[kr esa ls dkSu&lk ,d la?kh; ns'k gS\

(A) Ýkal

(B) czkthy

(C) ;wukbVsM fdaxMe

(D) bVyh

46. fuEu esa ls dkSu&lh yksdrU= dh vfuok;Z

fo'ks"krk ugha gS\

(A) lkoZHkkSfed o;Ld erkf/kdkj

(B) pquh gqbZ fo/kkf;dk

(C) ukxfjd LorU=rk

(D) iw.kZ vkfFkZd lekurk
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47. An organization of independent states linked

by their common ties to the former British

Empire is called :

(A) Containment

(B) Commonwealth

(C) Dominion

(D) Protectorates

48. The process whereby a colonial power

grants judicial independence to a colony,

but nevertheless maintains a ‘de facto’

political and economic control is known as:

(A) Neo-Marxism

(B) Neo-Communism

(C) Neo-Colonialism

(D) Neo-Fascism

49. Which of the following claims is the most

closely associated with primary ideas of

nationalism and nationhood?

(A) Nationalism emerged in late 18th

century

(B) Nationalism is exclusively a source

of evil

(C) Nations have existed for a very long

time, since well before modernity

(D) Nations are from our prehistory, but

are no longer with us

47. LorU= jkT;ksa dk ,d laxBu tks iwoZ vaxzstksa

ds lkezkT; ds lkFk muds lkekU; lEcU/kksa ls

tqM+k gqvk gS] dgk tkrk gS %

(A) fu;af=r

(B) jk"VªeaMy

(C) vf/kjkT;

(D) lajf{kr

48. og izfØ;k ftlds }kjk ,d vkSifuosf'kd

'kfDr ,d mifuos'k dks U;kf;d LorU=rk

iznku djrh gS] ysfdu fQj Hkh ,d ̂ okLrfod

jktuhfrd o vkfFkZd fu;a=.k dks cuk, j[krh

gS] dgykrh gS %

(A) uo&ekDlZokn

(B) uo&lkE;okn

(C) uo&mifuos'kokn

(D) uo&Qklhokn

49. fuEufyf[kr esa ls dkSu&lk nkok jk"Vªokn vkSj

jk"Vªh;rk ds vkfneoknh fopkjksa ls lcls

vf/kd fudVrk ls tqM+k gS\

(A) vBkjgoha 'krkCnh ds var esa jk"Vªokn

dk mn; gqvk

(B) jk"Vªokn fo'ks"k :i ls cqjkbZ dk lzksr

gS

(C) vk/kqfudrk ls cgqr igys ls jk"Vª

vfLrRo esa gS

(D) jk"Vª gekjs izkxSfrgkfld dky ls gSa]

ysfdu vc gekjs lkFk ugha gSa
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50. ^'kfDr izHkkfor djus dh {kerk gS* fdlus

dgk Fkk\

(A) jkWcVZ ,- ngy

(B) ykWMZ ,DVu

(C) eSDl oscj

(D) ykWlosy

51. fuEufyf[kr esa ls fdlus ikjEifjd] dfj'ekbZ

vk Sj dkuwuh rdZlaxr izkf/kdj.k dh

vo/kkj.kk nh\

(A) eSDl oscj

(B) dkyZ ekDlZ

(C) xSVsy

(D) VkydkWV ikjlUl

52. fdlus dgk Fkk fd jktuhfr lÙkk ds fy,

la?k"kZ gS\

(A) ekWxsZUFkkÅ

(B) jkWcVZ ,- ngy

(C) ykLdh

(D) eSdkboj

53. izkf/kdj.k dks bl izdkj ifjHkkf"kr fd;k tk

ldrk gS %

(A) oS/k 'kfDr

(B) voS/k 'kfDr

(C) jktuhfrd 'kfDr

(D) rkuk'kkgh 'kfDr

50. Who said, ‘Power is capacity to influence’?

(A) Robert A. Dahl

(B) Lord Acton

(C) Max Weber

(D) Lasswell

51. Who among the following gave the concept

of Traditional, Charismatic and Legal

Rational Authority?

(A) Max Weber

(B) Karl Marx

(C) Gettel

(D) Talcott Parsons

52. Who said, '‘Politics is Struggle for Power’'?

(A) Morganthau

(B) Robert A. Dahl

(C) Laski

(D) MacIver

53. Authority can be defined as :

(A) Legitimate Power

(B) Illegitimate Power

(C) Political Power

(D) Dictatorial Power

[P.T.O.]
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54. The term ‘Politics’ is derived from :

(A) Latin word ‘Polis’

(B) Greek word ‘Polis’

(C) English word ‘Political’

(D) Greek word ‘City-State’

55. Political Science is a discipline :

(A) which does not subscribe to any

value

(B) which provide value free analysis

(C) meant to study values

(D) that cannot ignore values

56. Scope of Political Theory is :

(A) the study of power

(B) to determine the political principles

(C) the study of state and government

(D) All of the above

57. A man by nature is a social and political

animal is the cornerstone of the philosophy

of :

(A) Plato

(B) Socrates

(C) Aristotle

(D) Montesquieu

54. ^ikWfyfVDl (Politics)' 'kCn dh O;qRifÙk gqbZ gS %

(A) ySfVu 'kCn ^iksfyl* ls

(B) xzhd 'kCn ^iksfyl* ls

(C) vaxzsth 'kCn ^ikWfyfVdy* ls

(D) xzhd 'kCn ^flVh&LVsV* ls

55. jktuhfr foKku ,d fo"k; gS %

(A) tks fdlh Hkh ewY; dh lnL;rk ugha

ysrk gS

(B) tks ewY; eqDr fo'ys"k.k iznku

djrk gS

(C) ewY;ksa dk v/;;u djus ds fy,

(D) tks ewY;ksa dh mis{kk ugha dj ldrk

56. jktuhfrd fl)kUr dk {ks= gS %

(A) 'kfDr dk v/;;u

(B) jktuhfrd fl)kUrksa dks fu/kkZfjr djus

ds fy,

(C) jkT; vkSj ljdkj dk v/;;u

(D) mijksDr lHkh

57. euq"; LoHkko ls ,d lkekftd vkSj jktuhfrd

izk.kh gS] fdlds n'kZu dh vk/kkjf'kyk gS\

(A) IysVks

(B) lqdjkr

(C) vjLrw

(D) ekaVsLD;w
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58. ^vkWu fycVhZ* iqLrd fdlus fy[kh gS\

(A) gsujh esu

(B) ts-,l- fey

(C) Vh-,p- xzhu

(D) ykWLdh

59. vk/kqfud mnkjokn ds dsUnz dh igpku dhft, %

(A) ifjokj

(B) leqnk;

(C) O;fDrxr

(D) lekt

60. udkjkRed LorU=rk dk vFkZ gS %

(A) izfrcU/k ds fcuk LorU=rk

(B) dqN izfrcU/kksa ds lkFk LorU=rk

(C) dbZ izfrcU/kksa ds lkFk LorU=rk

(D) ukeek= izfrcU/kksa ds lkFk LorU=rk

61. dkuwuh ck/kkvksa ds vHkko esa %

(A) lekt dh izxfr gksxh

(B) lekt esa vjktdrk gksxh

(C) lekt esa uSfrd LorU=rk ds fl)kUrksa

ij dk;Z gksxk

(D) lekt esa vk/;kfRed xq#vksa dh enn

ls fooknksa dk lek/kku gksxk

58. Who wrote the book ‘On Liberty’?

(A) Henry Maine

(B) J.S. Mill

(C) T.H. Green

(D) Laski

59. Identify the focus of Modern Liberalism :

(A) Family

(B) Community

(C) Individual

(D) Society

60. Negative Liberty means :

(A) Liberty without restraints

(B) Liberty with some restraints

(C) Liberty with many restraints

(D) Liberty with a few restraints

61. In the absence of legal constraints, society

would :

(A) Progress

(B) Descend into chaos

(C) Function on the principles of moral

liberty

(D) Resolve disputes with the help of

spiritual gurus

[P.T.O.]
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62. jktuhfr foKku dk vU; lkekftd foKkuksa

ds lkFk ,dhdj.k fdldk ewy fl)kUr gS\

(A) ijEijkokn

(B) O;ogkjokn

(C) mnkjokn

(D) mÙkj O;ogkjokn

63. jktuhfr ds ikjEifjd n`f"Vdks.k ls lEcfU/kr

lgh dFku dks fpfºur dhft, %

(A) jktuhfr jkT; vkSj ljdkj dk

v/;;u gS

(B) lEiw.kZ jktuhfrd O;oLFkk ds fo'ys"k.k

dk v/;;u

(C) vehj vkSj xjhc ds chp oxZ&la?k"kZ

(D) i;kZoj.k vkSj iz.kkyh ds chp

lEcU/k

64. oLrqfu"Brk dk vFkZ gS %

(A) 'kq)rk

(B) dqN Hkh iwoZ Lohdkj u djuk

(C) iwokZxzg dks [kRe djuk

(D) izs{k.kksa dks nksgjkuk

62. Integration of Political Science with other

Social Sciences is a basic principle of :

(A) Traditionalism

(B) Behaviourism

(C) Liberalism

(D) Post-Behaviourism

63. Mark the correct statement related to the

Traditional view of Politics :

(A) Politics is the study of state and the

government

(B) Study of analysis of the whole of

the political system

(C) Class struggle between haves and

have not

(D) Relationship between environment

and the system

64. Objectivity means :

(A) Precision

(B) Taking nothing for granted

(C) Eliminating bias

(D) Repeating observations
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65. vk/kqfud U;k; dk vfuok;Z fl)kUr gS %

(A) U;k;k/kh'kksa dks dk;Zikfydk dk fgLlk

gksuk pkfg,

(B) U;k;ikfydk dh LorU=rk gksuh pkfg,

(C) U;k;k/kh'kksa dks jkT; ds izeq[k ds

fu;a=.k esa gksuk pkfg,

(D) U;k;k/kh'kksa dks ernkrkvksa ds fu;U=.k

esa gksuk pkfg,

66. ^^lkekftd vuqcU/k fl)kUr dh [kjkc bfrgkl]

[kjkc rdZ vkSj cqjh uSfrdrk ds :i esa

vkykspuk dh xbZ gSA** ;g fdlus dgk\

(A) gsujh esu

(B) ,p-ts- ykLdh

(C) ,Q- foYlu

(D) vusZLV czksdj

67. ^Vw fVªVkbtsl vkWQ xouZesaV* fdlds }kjk fy[kk

x;k\

(A) tkWu ykWd

(B) ts-ts- :lks

(C) FkkWel gkWCl

(D) Lisalj

68. ,d lketoknh jkT; fdl ij cy nsrk gS\

(A) jktuhfrd LorU=rk

(B) vkfFkZd lqj{kk

(C) futh lEifRr dk vf/kdkj

(D) U;k;ikfydk dh LorU=rk

[P.T.O.]

65. The essential principle of modern justice is:

(A) Judges should be part of executive

(B) There should be independence of

judiciary

(C) The judges should be under the

control of the Head of the State

(D) The judges should be under the

control of the electorate

66. “The Social Contract theory has been

criticized as bad history, bad logic and bad

ethics.” Who said it?

(A) Henry Maine

(B) H.J. Laski

(C) F. Wilson

(D) Ernest Broker

67. ‘Two Treatises of Government’ was written

by:

(A) John Locke

(B) J.J. Rousseau

(C) Thomas Hobbes

(D) Spencer

68. A socialist state lays emphasis on :

(A) Political liberty

(B) Economic security

(C) Right to private property

(D) Independence of judiciary
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69. fdlus dgk] ^^U;k; og cU/ku gS] tks lekt

dks ,d lkFk j[krk gS**\

(A) xzhu

(B) gsxsy

(C) IysVks

(D) :lks

70. fuEufyf[kr esa ls dkSu&lk IysVks dh U;k; dh

/kkj.kk dk dsUnzh; xq.k gS\

(A) lekurk

(B) LorU=rk

(C) ln~Hkko

(D) cU/kqRo

71. fdlus dgk] ̂ ^jktuhfr izHkko vkSj izHkko'kkyh

dk v/;;u gS**\

(A) ykWlossy

(B) ykLdh

(C) oscj

(D) cksnka

72. fuEufyf[kr esa ls fdlus ifjHkkf"kr fd;k

^^jktuhfr bl ckr dk foKku gS fd fdls]

D;k] dc vkSj dSls feyrk gS**\

(A) xkuZj

(B) fc;lZ

(C) fgyeSu

(D) fyilu

69. Who said, '‘Justice is the bond which holds

society together’'?

(A) Green

(B) Hegel

(C) Plato

(D) Rousseau

70. Which one of the following is a central

attribute of Plato’s notion of Justice?

(A) Equality

(B) Liberty

(C) Harmony

(D) Fraternity

71. Who said, '‘Politics is the study of  influence

and the influential’'?

(A) Lasswell

(B) Laski

(C) Weber

(D) Bodin

72. Who among the following defined “Politics

is the science of who gets, what, when and

how”?

 (A) Garner

(B) Bierce

(C) Hillman

(D) Lipson
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73. vk/kqfud nf̀"Vdks.k ls tqM+s fopkjd dh igpku

dhft, %

(A) MsfoM bZLVu

(B) IysVks

(C) vjLrw

(D) lqdjkr

74. jktuhfr foKku esa O;ogkjoknh n`f"Vdks.k

^^jktuhfr foKku dh izk;ksfxd lkexzh dks

vkSj vf/kd oSKkfud cukus dk ,d iz;kl**

gSA ;g fdlus dgk Fkk\

(A) pkYlZ bZ- efj;e

(B) MsfoM bZLVu

(C) ikWosy

(D) jkWcVZ ,- ngy

75. buiqV&vkmViqV n`f"Vdks.k fodflr fd;k x;k

Fkk %

(A) jkWcVZ ,- ngy }kjk

(B) MsfoM bZLVu }kjk

(C) ekDlZ }kjk

(D) ykWlosy }kjk

73. Identify the Thinker associated with the

Modern Approach :

(A) David Easton

(B) Plato

(C) Aristotle

(D) Socrates

74. Behavioural approach in political science

is “an attempt to make the empirical content

of political science more scientific” who said

this?

(A) Charles E. Merriam

(B) David Easton

(C) Powell

(D) Robert A. Dahl

75. The Input-Output approach was developed

by :

(A) Robert A. Dahl

(B) David Easton

(C) Marx

(D) Lasswell

[P.T.O.]
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76. jktuhfrd laLd̀fr fuEu esa ls fdl O;oLFkk

ds izfr O;fDrxr vfHkof̀Ùk;ksa vkSj mUeq[krkvksa

dk izfreku gS\

(A) lkekftd O;oLFkk

(B) vkfFkZd iz.kkyh

(C) jktuhfrd O;oLFkk

(D) i;kZoj.k iz.kkyh

77. fuEufyf[kr esa ls dkSu&lk jktuhfrd fodkl

dh ywfl;u ikbZ dh rhu ewyHkwr fo'ks"krkvksa

esa ugha gS\

(A) lekurk

(B) {kerk

(C) foHksnhdj.k

(D) jkT;

78. fdlus dgk fd jktuhfrd fLFkjrk dks cuk,

j[kuk jktuhfrd fodkl dk vfUre y{; gS\

(A) lSeqvy gafVaxu

(B) ,yu ckWy

(C) dkyZ ekDlZ

(D) ngy

76. Political Culture is the pattern of individual

attitudes and orientations towards which of

the following system?

(A) Social system

(B) Economic system

(C) Political system

(D) Environmental system

77. Which one of the following is not Lucian

Pye’s three basic characteristic features of

Political Development?

(A) Equality

(B) Capacity

(C) Differentiation

(D) State

78. Who observed that the maintenance of

political stability as the ultimate goal of

Political Development?

(A) Samuel Huntington

(B) Allan Ball

(C) Karl Marx

(D) Dahl
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79. vf/kdkjksa ds dkuwuh fl)kUr ds izfriknd gSa %

(A) xzhu

(B) ykWd

(C) vkWfLVu

(D) :lks

80. fdlus dgk] ^^vf/kdkj lkekftd thou dh

os ifjfLFkfr;ka gSa ftuds fcuk dksbZ Hkh O;fDr

vius vkidks loZJs"B ugha cuk ldrk**\ %

(A) okbYM

(B) IysVks

(C) ykWd

(D) ykWLdh

81. fdlus dgk] ̂ ^vf/kdkj lekt }kjk ekU;rk izkIr

vkSj jkT; }kjk ykxw fd;k x;k nkok gS**\

(A) vjLrw

(B) flljks

(C) ckslkuDosV

(D) fey

82. ^fycVhZ (Liberty)' 'kCn ̂ fycj (Liber)' ls fy;k

x;k gS] tks fd ,d 'kCn gS %

(A) ySfVu Hkk"kk dk

(B) xzhd Hkk"kk dk

(C) vaxzsth Hkk"kk dk

(D) Ýkalhlh Hkk"kk dk

79. The exponent of Legal theory of Rights is :

(A) Green

(B) Locke

(C) Austin

(D) Rousseau

80. Who said, ‘'Rights are those conditions of

social life without which no man seek to be

himself at his best”?

(A) Wilde

(B) Plato

(C) Locke

(D) Laski

81. Who said, “A Right is a claim recognized

by Society and enforced by the State”?

(A) Aristotle

(B) Cicero

(C) Bosanquet

(D) Mill

82. The term ‘Liberty’ is taken from ‘Liber’ which

is a word from :

(A) Latin language

(B) Greek language

(C) English language

(D) French language

[P.T.O.]
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83. In the theory of the origin of the state, political

consciousness is a factor in :

(A) Divine Origin Theory

(B) Force Theory

(C) Social Contract Theory

(D) Evolutionary Theory

84. Which one of the functions listed below falls

in the category of compulsory functions of

State?

(A) Regulation of trade and industry

(B) Protection of health and medical

relief

(C) Maintenance of civil and criminal

courts

(D) Maintenance of works of public utility

85. One of the protective functions performed

by the welfare state is :

(A) Provision of education

(B) Regulation of working conditions

(C) Protection of health

(D) Protection of family

86. Who said that individual is an instinct part of

the state?

(A) Aristotle

(B) Locke

(C) Rousseau

(D) Lenin

83. jkT; dh mRifÙk ds fdl fl)kUr esa ̂ jktuhfrd

psruk* ,d dkjd gS\

(A) bZ'ojh; mRifÙk fl)kUr

(B) cy fl)kUr

(C) lkekftd vuqcU/k fl)kUr

(D) fodkloknh fl)kUr

84. uhps  fn, x;s lwphc) dk;ksZa esa ls dkSu&lk ,d

jkT; ds vfuok;Z dk;ksZa dh Js.kh esa vkrk gS\

(A) O;kikj vkSj m|ksx dk fofu;eu

(B) LokLF; vkSj fpfdRlk jkgr dh lqj{kk

(C) nhokuh vkSj QkStnkjh vnkyrksa dk

j[kj[kko

(D) tuksi;ksxh dk;ksZa dk j[kj[kko

85. dY;k.kdkjh jkT; }kjk fd, x, lqj{kkRed

dk;ksZa esa ls ,d gS %

(A) f'k{kk dk izko/kku

(B) dke djus dh fLFkfr dk fofu;eu

(C) LokLF; dh lqj{kk

(D) ifjokj dh lqj{kk

86. fdlus dgk fd O;fDr jkT; dk ,d lgt

vax gS\

(A) vjLrw

(B) ykWd

(C) :lks

(D) ysfuu



POLITICAL SCIENCE/A060201T-C/5200 (  27  )

87. ckS) n'kZu esa LorU=rk dk lh/kk lEcU/k gS %

(A) vuq'kklu ls

(B) vf/kdkj ls

(C) lafo/kku ls

(D) jkT; ls

88. fopkjd tks udkjkRed LorU=rk Ldwy ls

lEcfU/kr ugha gS %

(A) ,Me fLeFk

(B) tkWu ykWd

(C) FkkWel gkWCl

(D) dkyZ ekDlZ

89. ldkjkRed LorU=rk dk vFkZ gS %

(A) dqN Hkh djus dh LorU=rk

(B) la;e ds lkFk LorU=rk

(C) dsoy izfrcU/k

(D) buesa ls dksbZ ugha

90. ;g dFku fd ^^izkd`frd :i ls lHkh iq#"k

leku gaS** fdlds }kjk fn;k x;k gS\

(A) gkWCl

(B) ykWd

(C) :lks

(D) ykLdh

87. In Buddhist philosophy, freedom is directly

related to :

(A) Discipline

(B) Rights

(C) Constitution

(D) State

88. A Thinker who does not belong to the

negative liberty school of thought :

(A) Adam Smith

(B) John Locke

(C) Thomas Hobbes

(D) Karl Marx

89. Positive Liberty means :

(A) Liberty to do anything

(B) Liberty with restraints

(C) Only restraints

(D) None of these

90. The statement that “Men by nature are equal”

is given by :

(A) Hobbes

(B) Locke

(C) Rousseau

(D) Laski

[P.T.O.]
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91. ns'k ds lalk/kuksa dks [kkstus vkSj mi;ksx djus

ds fy, jktuhfrd O;oLFkk dh {kerk vkSj

'kfDr esa of̀) dks dgk tk ldrk gS %

(A) jktuhfrd fodkl

(B) jktuhfrd vk/kqfudhdj.k

(C) jktuhfrd ifjorZu

(D) jktuhfrd 'kfDr

92. jktuhfrd lkekthdj.k dk igyk egRoiw.kZ

dkjd dkSu&lk gS\

(A) lekt

(B) jkT;

(C) jktuhfrd ny

(D) ifjokj

93. jktuhfrd mi&laLdf̀r fdldk vax gS\

(A) lkekftd laLd̀fr

(B) lkekU; laLd`fr

(C) jktuhfrd laLd`fr

(D) laLd`fr

94. U;k; dks LorU=rk vkSj lekurk dk feJ.k

fdlus dgk Fkk\

(A) IysVks

(B) vjLrw

(C) :lks

(D) gkWCl

91. Increasing the capacity and capability of the

political system to find and utilize the

resources of the country, is called :

(A) Political Development

(B) Political Modernization

(C) Political Change

(D) Political Power

92. Which is the first important agent of Political

socialization?

(A) Society

(B) State

(C) Political party

(D) Family

93. Political sub-culture is the part of :

(A) Social culture

(B) General culture

(C) Political culture

(D) Culture

94. Who said Justice as the mixture of Liberty

and Equality?

(A) Plato

(B) Aristotle

(C) Rousseau

(D) Hobbes
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95. fuEufyf[kr dFkuksa esa ls dkSu&lk lgh gS\

(A) LorU=rk vkSj lekurk ,d nwljs ds

fojks/kh gSa

(B) LorU=rk vkSj dkuwu ,d nwljs ds

fojks/kh gSa

(C) LorU=rk vkSj lekurk iwjd gaS

(D) LorU=rk vkSj lekurk fojks/kkHkklh

gSa

96. ekDlZokfn;ksa ds fy, ekSfyd lekurk gS %

(A) lkekftd lekurk

(B) jktuhfrd lekurk

(C) vkfFkZd lekurk

(D) dkuwuh lekurk

97. ukxfjd LorU=rk vkSj jktuhfrd vf/kdkj

fdldk vk/kkj gaS\

(A) yksdrkaf=d ljdkj

(B) jkt'kkgh 'kklu

(C) vf/kuk;doknh ljdkj

(D) rkuk'kkg 'kklu

[P.T.O.]

95. Which of the following statements is correct?

(A) Liberty and Equality are opposed

to each other

(B) Liberty and Law are opposed to

each other

(C) Liberty and Equality are

supplementary

(D) Liberty and Equality are

contradictory

96. For Marxists, the fundamental equality is :

(A) Social equality

(B) Political equality

(C) Economic equality

(D) Legal equality

97. Civil liberties and political rights form the

basis of :

(A) Democratic Government

(B) Monarchical rule

(C) Totalitarian Government

(D) Dictator rule



POLITICAL SCIENCE/A060201T-C/5200 (  30  )

98. ^^;fn lEizHkqrk iw.kZ ugha gS rks fdlh Hkh jkT;

dk vfLrRo ugha gks ldrkA** ;g dFku

fdldk gS\

(A) ykLdh

(B) xSVsy

(C) vkWfLVu

(D) ckdZj

99. fuEufyf[kr esa ls dkSu ^^dkuwuh naM** dh

ifjHkk"kk ij vko';drk ugha gS\

(A) ;g dkuwuh fu;eks a ds f[kykQ

vijk/k ds fy, gksuk pkfg,

(B) blesa vfiz; ifj.kke 'kkfey gksus

pkfg,

(C) ;g vko';d :i ls okLrfod ;k

dfFkr vijk/kh dk ugha gksuk pkfg,

(D) ;g tkucw>dj vijk/kh ds vykok

vU; euq";ksa }kjk iz'kkflr fd;k

tkuk pkfg,

100. orZeku le; esa fdlh Hkh yksdra= esa ,d

egRoiw.kZ xSj&jkT; laLFkk gS %

(A) U;k;ikfydk

(B) LFkkuh; ljdkj

(C) ukxfjd lekt laxBu

(D) ukxfjd lsok,a

98. "If sovereignty is not absolute, no state can
exist." This is a statement made by :

(A) Laski

(B) Gettel

(C) Austin

(D) Barker

99. Which of the following is not a requirement

on the definition of ‘legal punishment”?

(A) It must be for an offense against

legal rules

(B) It must involve unpleasant

consequences

(C) It must not necessarily be an actual

or supposed offender

(D) It must be intentionally administered

by human beings other than the

offender

100. An important non-state actor in any

democracy in present times is :

(A) Judiciary

(B) Local government

(C) Civil society organisations

(D) Civil services
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B

A C D

A D

A C D

B


